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(A) y=x+cosx (B) y=x+sinx
(C©) y=+x (D) y=el
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(A) y=-x° (B) y=2M
1
(C) y=x? (D) y=log,(—x)
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3. WabeR, fra>b, N

A.—<Z B. 2>2"
a

C. lga>lgh D. sina>sinb
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(A) y=x’ (B) y=sinx
(C) y=—ip (D) y=i-x
x +1
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SREL f(x)=2" +log, | x| IZE SANECH

(A) 0 (B) 1 (C) 2 (D) 3
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llog, x|, 0<x<4,

x? —10x+25,x > 4.

6. E%Dl%lﬁf(x)z{ Fia,b,c,d R HAMREMIES, H

f(a)=fb)= f(c)= f(d),» W abcd HIEUEE R
(A) (24,25) (B) (18,24) (C) (21,24) (D) (18,25)
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TRE f(x)=x|x|. HHFExe[l, +0), 15 f(x-2k)—k<0, N k KJBETEE 2

(A) (2.4) (B) (I,+50) © (%,m) (D) (i,m)



